BORILLA oPORTS

BENCH EXTENSION (10000772)




SHUORILLA oPORTS

- PBI]FESSIIINA[ GYM EQUIPMENT FOR EVERYONE

Maximum load: 120 kg




HUORILLA oPORTS

Washer: (#10) Hex Nut: (M10) Washer: (#8)
(A\
©) ©
12x hx hx

Bolt: (M10%75) Bolt: (M10%70)
| @ [

2X
Bolt: (M10%65) Bolt: (M10%20) Bolt: (M8*20)
11 iy i
2X 2X 59:¢
Pin Foam
¢ 2 &
1x 2X

Spanner

OO




 — ) 6’@

AN

Bolt M10%75 1PCS Nut MIO 1PCS

—F) @

Pin 1PCS Washer @10 2PCS




t——m W,
Bolt M10%70 2PCS Foam 2pcs

© @

Washer @10 4PCS Nut M10 2PCS




(o
Bolt M8%20 4PCS

©

Washer M8 4PCS




 — ) (fmmm

Bolt M10*%65 2PCS  Bolt M10%20 2PCS

© @

Washer @10 6PCS Nut M10 2PCS




(fmm
Bolt M8%20 1PCS

©

Washer M8 1PCS




